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401 Al HI K 201 9,655,000 9,675,000 220,000
01 A& tI 9,655,000 9,655,000 0
OXdY S 49298 X (2&IAIE) SEF=XE =24
EXMHLH (2535 43]) 9,655,000
9,655,000,000& » 14!
olulbl (RS A ) 46,886 9,058,800 29,011,914
ol g1yl 46,886 9,058,800 29,011,914
1 081 bl 46,886 9,058,800 29,011,914
1 L EHoil gl g 46,886 9,058,800 29,011,914
Oolgl bl 46,886,000& 46,886
HREes(nsSIIE ) 83,287 1,592,600 A 1,509,313
HWEHAXS(RSAY) 83,287 88,500 A5,213
HEHH X = 83,287 88,500 Ab5,213
705 ==& cl 34 83,287 88,500 A5,213
02 Ol =30l X+ &f &t 83,287 88,500 A5,213

O=S3= 6888l SEFXE A8 X3 0Kk
o et 83,287,000&
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s 5,071,106 4,994,044 77,062
< 283,013
Al 4,788,093
WA XA 4,665,675 4,621,594 44,081
< 283,013
Al 4,382,662
WEEMN S (WEAMY) 2,180,010 2,274,579 A 94,569
EEFEINHS 2012 AY 3,300 3,300 0
303 Z& 3 3,300 3,300 0
01 243 3,300 3,300 0
OSYFZXEHS 0|2 Al 3,300
—xe= 1,500,000& 1,500
- 1,000,000 1,000
- & 800,000& 800
WEXNTHSH ABIRFA 3,000 3,000 0
203 R =&t 3,000 3,000 0
03 A F=XH R =AY 3,000 3,000 0
OUsSXE A d2FX 3,000
—wNsSEM HEES =4 1,500,000 1,500
-85 3X 45835 =& 1,500,000 1,500
IME==PNREE =k s Na ] 68,520 66,280 2,240
201 Let24E] 27,120 28,480 A 1,360
01 At 22l 26,120 27,480 A 1,360
OusSENEEY =Dz SEHI(X=DI)
8,000 «4H x5 » 128 1,920
OA -7 2 = 3% o8 A=(25=2.S
=) 100,000 *121H »23| 24,200
02 =224l 1,000 1,000 0
OusSiEesd 24X
100,000& 10«13l 1,000
202 oddl 41,400 37,800 3,600
01 = LH o4 1l 41,400 37,800 3,600
OJl2ge=a0dl 150,000 23 «12& 41,400
=Y = - IX LEHzE SEAAY 25 46,680 35,680 11,000
201 Let24E] 46,680 35,680 11,000
02 2324l 46,680 35,680 11,000
OJta A ==2 80& 236,000 18,880
O&EAl ARSAIAE ASIE =2
500,000& 123 6,000
O=2Y =- 38X Lthig sEA28 FES
1,400,000& =122 16,800
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O2Y F= - 3dx MNEHE SEANAE RIES
JlsI& 5,000,000 * 1A 5,000
HA HE= &0 84X &= 25,000 25,000 0
401 AIEHIZL 201 Y| 25,000 25,000 0
01 Al&H| 25,000 25,000 0
OHARZZE & N2 HdEE SANES
2,500,000 *1004 &~ 25,000
WEEAN SAEH K& 193,602 170,762 22,840
201 et 18,000 0 18,000
03 A2 | 18,000 0 18,000
OuUsSEAN SAIYH 34 18,000,000 14! 18,000
307 2iz2to| & 175,602 170,762 4,840
02 QIZ2IA AAIE E X 175,602 170,762 4,840
OUEZMAZXS (1 A EHs]) 56,200
—H=gsH XN& 21,600,000& 21,600
— s 2¢ XN 20,800,000& 20,800
— NSESotMEH FL 13,800, 000& 13,800
OUEZMAZTXNR(E & XH3l) 55,830
—HE=gsH A& 32,400,000 32,400
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— WECHMAYHl P 9,080,000& 9,080
OEolnEHEX S ML 3l) 63,572
—HE= Y ARy 2 N
63,571,100 63,572
I B S AFE 220l Al A 16,800 16,800 0
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OFAI e &= AFE 220l AHlA 2 XH(
M) 22 800,000& ~12& 9,600
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HAQCIAIY (ALY T A2 AL KIEFAIY) ,812,408 1,948,707 AN 136,299
309 =2 ,488,388 1,703,957 A 215,569
01 SAH- 2HINMNEEZ ,488,388 1,703,957 A 215,569
OHIANY 29 1,488,388,000& ,488,388
404 S2MNB2HE2NHE2 324,020 244,750 79,270
01 BA- 2282 324,020 244,750 79,270
OdIANY &9 324,020,000 324,020
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02 222%4| 500 0 500
OEX2 BAaZHIY RNIEES
100,000 524 500
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01 Al& H| 300,000 300,000 0
OHA 38& 520 &AX
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ASS HAZG XU DK 22 (dYS TS AL Z2A 9IE 497,999 507,189 A9,190
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
401 Al HIZ 201 Y| 46,000 70,000 A24,000
01 A& HI 46,000 70,000 A24,000
OHAIZRZE 22l & 2= 10,000,000 =14l 10,000
OHHAl =20 &X 12,000, 000 *3H 4 36,000
BEAl WEIE ©HI| =2 924,368 827,459 96,909
< 283,013
Al 641,355
307 21201 A 924,368 827,459 96,909
= 283,013
Al 641,355
02 It S AIHE L 924,368 827,459 96,909
Ounsate ¢l sa= NF 76,032,000 76,032
< 28,512
Al 47,520
OusatE ¢ It =2 &
848,336, 000& 848,336
< 254,501
Al 593,835
BAl 242 dH 29 5,000 2,000 3,000
301 et d s 5,000 2,000 3,000
NJEEd=s 5,000 2,000 3,000
OEIAl 242 ROIFI 243
5,000,000& =14 5,000
Al 2+3ALAL &2 H =4 6,000 12,000 A 6,000
201 £B-2%H| 6,000 12,000 A 6,000
01 At 22l 1,200 0 1,200
OEANEH 237Y S ARt
100,000& «12& 1,200
02 =224l 4,800 12,000 AT7,200
OHAlZdH SA2eltl 400,000& x12& 4,800
ETAIZ X & 42,500 2,500 40,000
201 Lt 2,500 2,500 0
01 At 22l 2,500 2,500 0
OEANZRAZE &4 100,000 «5F +53] 2,500
207 A RO EH] 40,000 0 40,000
01 A7 39l 40,000 0 40,000
OSAMNHLTES 98 ARG
40,000,000& 14! 40,000
SIS2SEM HE(nSAY) 16,298 12,306 3,992
st Helgr &S 13,736 9,744 3,992
201 -4 7,136 6,744 392
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01 AFR2 22l Yl 7,136 6,744 392
OSSXDXN EM=X ANESHEFJ 0= 600
— gst=s 100,000& *6H 13| 600
OF=2SAY 2 AFR22t2ld] 5,000,000 5,000
OstEex DX erMs &cE S| (0F2H)
8,000 x4H 43| x12& 1,536
202 04| 3,600 0 3,600
01 2LHOHI 3,600 0 3,600
O=SsHAATS AP HLII M 48]
150,000& *»2H x12& 3,600
203 @R =&Y 1,000 1,000 0
03 Al Z=XIH R =X Y| 1,000 1,000 0
O3 2SME A 25 =& 1,000,000 1,000
301 dBtE A= 2,000 2,000 0
M IIEtE A S 2,000 2,000 0
O3S XS et A0 ZAZ
2,000,000 2,000
nNEHNIT)H RAE%E 2,562 2,562 0
201 2yt 2 Y| 2,562 2,562 0
02 ZZ 2l 2,562 2,562 0
OQuneEdgdZz)d SAUES
25,619,000& *10% 2,562
HHSHHAH (WSS 405,431 372,450 32,981
olE2 A (RSAY) 405,431 372,450 32,981
ol 2a | 405,431 372,450 32,981
101 @121l 405,431 372,450 32,981
02 JIEt& 2% 405,431 372,450 32,981
OHASYHAHRATE AP THLIM B 105,359
=10 1,360,000& x4 122 65,280
—AABEEHS 65,280,000& *3.12% 2,037
— &I RYEEE 1,997,560& *6.55% 131
- 1888 65,280,000& *1.5% 980
—AMEE 65,280,000& *1% 653
— =043 65,280,000& *4.5% 2,938
- s 100,000& *»4H x12& 4,800
— NESHHIBEX = 467,0803 x 15 *42 J| 1,869
- =k
125,000 * (35A1 2 /40 Al 2H) x4 H x12€ 5,250
— HHZAYH| 130,000& x4 x 122 6,240
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(1,360,000 *84%*86%)*1/30%1/7+84 Al 2t x4 1,572
9
— A2t =S 3,860 *10A| 2t *4H x12& 1,853
= A0 = 5,816,000 *100% 5,816
— Horg s
50,000 *(35A1 2H/40AI 2H) x4 H x 128 2,100
— S22 80,000& x4H x12& 3,840
QHASHHASS AP HAIH B 238,456
-=20 1,360,000& x9H »12& 146,880
—AABEEHZ 146,880, 000& *3. 12% 4,583
—A)YEE =2 4,494, 5203 *6 .55% 295
—1NE82E 146,880,000& *1.5% 2,204
—MHEE 146,880, 000& *1% 1,469
—=20HZ 146,880, 000& *4 . 5% 6,610
- JIE4 100,000 x9H x 12& 10,800
— NESHHIEX =S 467,080& *3YH x4 2 J| 5,605
==
125,000 * (35A1 2 /40 A1 2H)*9H x 128 11,813
— HHZAH| 130,000& *9H x12& 14,040
— AL E A
(1,360,000 x84%*86%) *1/30%1/7%84 Al 29 3,537
g
— A2 =S 3,860 x10A| 2H+9H x 12& 4,169
=L PN = 13,086,000& *100% 13,086
—Horg syl
50,0003 *(35A1 2t /40A1 2) x9S « 12 & 4,725
— S8R 80,000& x9H »12& 8,640
O&aZ 4,000,000 2 8,000
OSI=S8HHRAS AIZEEHAINH B 53,616
-=20 1,360,000 x2H «12& 32,640
—AAdEgEd=3 32,640,000& *3. 12% 1,019
— &I YEE = 998,780& *6.55% 66
— 1888 32,640,000& *1.5% 490
—MHES 32,640,000 *x1% 327
—=0HZ 32,640,000& *4.5% 1,469
—JtE4 100,000& »2H x12& 2,400
P E R =y 467,080 x1H x4 2 D| 1,869
— 322X
125,000 * (35A1 2t /40 Al 2F) *2H x 128 2,625
— 3 HZAH| 130,000& »2H x12& 3,120
— I AMH|
(1,360,000 *84%*86%)*1/30%1/7%84 Al 22 786
sl
— AN2Hd =G 3,860 *10A| 2H+2H x 12& 927
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AN =37 ZHNLSH
HE: DEIAN =
Eel =XE A2 (LSAY) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=& ZHnsu 1,573,396 1,364,562 208,834
NszAN =2 506,134 408,225 97,909
FIE S22l (RSAHY) 49,071 25,299 23,772
HE=XE =4 B3 K& 5,100 3,400 1,700
402 RIZFR201 ™ 5,100 3,400 1,700
01 U2 EALE X (KA R) 5,100 3,400 1,700
OUWE=XE =4 EX=3 1,700,000 *30H A 5,100
SEFUE ANEE RANES 21,000 3,000 18,000
401 AIEHI L 2] 21,000 3,000 18,000
01 Al 21,000 3,000 18,000
OUs=IE Ald2 RANE=>
2,500,000& 23| 5,000
OUs=Xa Ex=HA S 223U
3,000,000& 23| 6,000
OREFXE 018 X=& e &
500, 000& 200K & 10,000
SIFUE 29Y 16,000 14,000 2,000
201 et 6,000 4,000 2,000
01 At 22/ 6,000 4,000 2,000
OZEHs St2STIHLEE &= HMH
90,0003 %2501 A *23| 4,500
ORSFXE S 0SSt AEIAHA M
300& *5,00004 1,500
401 Al HIZ 201 8] 10,000 10,000 0
01 A& HI 10,000 10,000 0
O8Il B8 Us XY Zd3AM
10,000, 000 * 14! 10,000
SPCHEXIXE 2el 6,971 4,899 2,072
201 L2l 6,971 4,899 2,072
01 At 2t 2l 3,000 1,000 2,000
ORHEX OI2XSA A=
20,0003 =150CH 3,000
02 =224l 3,971 3,899 7?2
ORLT= 3,971
—SXXNY S SE(SI)  1,960&*1,2002 2,352
—gXXtY S S2(YE) 330& +1,200A 396
—gs= 1,630& 75021 1,223
S8 FEX 2l (LSAY) 406,851 351,623 55,228
=Y FEX H©=5 406,851 351,623 55,228
201 Let24d] 334,151 334,423 A272
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01 At 22l 82,920 80,578 2,342
OS=ZHI(PDA, ItOI2E ) =2l , A2F & A
fES 450,000& x12& 5,400
OSHZET o2 U DER 2428 Ta
H &4 450,000& 128 5,400
OEY=ZX WEHZE AEIA MZE
200& *5,00001x12& 12,000
OPDA 2t =Xl 1,100 *1,5002 1,650
O &t L CCTVES WEHE R A EXA
e = [l = 1202 +7,00000 x 12& 10,080
OSY=EX HLEEE =2 M
90,000& 504 4,500
OSEFEX MY EE22 dEX M
1002 *5,0000H 23] 1,000
OSYFIX ¢ JHUSHYRARS 2+
=4 70,0003 x6H »26 3| 10,920
OSY=ZX WEHE FII2 OXNAM A=
85% x3,00001 x 123 3,060
OLHE FIIE DAAN BtE2 AFHE
85& x1,70001 x 123 1,734
Oge=d =5 UM AFHME
85% *2,80001 x12& 2,856
O8YLE ME €8=d DA 2AFHME
85& *1,50001 x93 1,148
OFHIUVEE HALYR 48
200,000& x123 2,400
OLtEHE MEJE 2H <2 Xz
15,0003 x12& 180
OLEHE MEJE 2H S2I ME =2
400,000& =123 4,800
ORSM 25 2 K =& SIMBL4E
3,000& 4001 1,200
O= &l 14,592
—S8FEIN &5 2R% =S4 14,592
ENPIR= 8,000& x2H 20 122 3,840
OF2tEh= 8,000& *4H 202 «12& 7,680
FactE 8,000& »4H 8L « 12 3,072
02 =24l 251,231 253,845 A2,614
ORERS 211,862
—@¥HS 2 VeSS MESIIAM 28523 122,640
slsH# 1,960& x5,0004 x12& 117,600
oteH 300& *1,40024 «12& 5,040
—SYHFEXN BHHE FBIIE DAN RERS
1,960& *3,00001 x12& 70,560
—SYHFEXN NHHE BIIE DIAN EBHE=2
SERS 300& *1,60001x123 5,760
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—Eesd 5= JNAN fHe3
300& %2, 5000 x 12& 9,000
~ UMY HYHE SHEI
1,960& x2000H 392
—8UEE dY EESH DA B2
300& *1,30004 x93 3,510
OF8d oExg cCvEZ Y D24l
10,000,000 *2CH 20,000
O=YFHX & PASAE AIEE
10,0002 x50 x12& 600
OR&I SA MEE 36,000& ~6CH x12& 2,592
O2UHUM MEZ 22,2002 x50 x12& 1,332
OPAEE XIS &S AHUAMESZS
70,3403 x12& 845
O=YHFAEX &8s B2 24AKH2 |
200,000& *10¥ 2,000
OSYHFEX M2 AIAEY S E 4|
700,000& «12& 8,400
OXAtAl st2ets)|] & W e X 244l
300,000& ~12& 3,600
202 044l 16,200 16,200 0]
01 2Ll 16,200 0 16,200
OSHZEI o2 AZH HEE oyl
150,000& x9H »12& 16,200
203 & 2 =&H| 1,000 1,000 0
03 Al 2 =& 2 = X H| 1,000 1,000 0
OSHFEIT o2 U F+SAQY 2H3
1,000,000& 1,000
405 XHo&HF S HI 55,500 0 55,500
01 AL E B F S| 55,500 0 55,500
OEYF=EX o2 (A
26,000,000 *2CH 52,000
OEYF=EX =2 O XA
250,000& =144 3,500
WESYILZ SN (WS AIY) 50,212 31,303 18,909
WNERUEEZ2 A=A 50,212 31,303 18,909
101 2121 d| 41,897 24,757 17,140
04 JIZtHIZ22XNSE S 41,897 24,757 17,140
QULNERYUECZ AIEZ2 ZAE o082 25,920
- Jl=22 72,000 *15H %20 21,600
-5 72,000 x15H- x4 4,320
ORERLPLZ HauUAR oY 13,964
-Jl22 72,000 1 «150 10,800
-5 72,000€ x 1«30 2,160
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Al 2t
— oI E s 43,750 x14H «12& 7,350
— SN2 70,000 14 x12& 11,760
— & &3 4,000,000 x4 16,000
—A2AEE 330,484,000& *3.06% 10,113
— &I YEE 10, 113,000 *6.55% 663
—=0HZ 330,484 ,000& *4 .5% 14,872
- 1888 330,484,000 *1.5% 4,958
—MHEE 330,484,000 %1% 3,305
03 2IHALZZHE = 139,877 39,519 100, 358
O 41,869
—-Je3 2,230,100 1 x 128 26,762
— 3 HZAH| 130,000& *1H 122 1,560
— &S| 2,230, 100& *x110% 2,454
—AZ2t224
10,550& *1.5H *30A| 2t x12& 5,697
U2y
10,550 =1 .58 *8A| 2t %22 x 128 3,039
— X< 10,5503 *BA| 2H*1H %23 1,942
—MHEE = 41,454 ,000& *1.0% 415
OMIA 98,008
A= 1,844,000 3 «12& 66,384
— I AH| 130,000& *3H x12& 4,680
— Y& S| 1,844,000 *3H *110% 6,086
—JIEx< 60,000 x3H x12& 2,160
—AZ2t224
8,810& x1 .5l x31Al 2t *x3H x 128 14,748
— AX=E 8,810 x8A| 2H*3H 15 3,172
—MHEE 97,230,000& *0.8% 778
04 JI2ZtH 22 XNEE S 892,302 792,734 99,568




2A: 2P FHuSH
HH: HW2ARY (2T IHDLSH)
el QIR U (REAY) CEEEED
SN EB S (3H) - NBAY - B2 ofl &t o SSa HDE2
OSYHFEXN 582X 892,302
-=20 72,0003 x24H %22 x12& 456,192
—gg224+g
72,0003 *1 5 *x24H «1 252 x12& 38,880
— &S| 500,000& *24H x23| 24,000
- =54 72 ,000) *24H x52L 89,856
— AX =G 72,000 x24H x5 25,920
—Ngaesy
9,000 *1.5H 24 x20A| 2tx 12& 77,760
—g&3 4,000,000& x27H 108,000
—H2AEE= 712,608,000& *3.06% 21,806
—AJQLYEEE 21,806, 000& *6.55% 1,429
— =043 712,608,000& x4 . 5% 32,068
- 11888 712,608,000 *1.5% 10,690
—MES 712,608,000& =0 .8% 5,701
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2HA 20
Hu: RO CRY 7E L AR e
Eel: Z2A9NE S JIEAE MG (BRI HLASY) (22 &d)
= _ = s
SA - - ERA(E) - NTAY - BES 0f o il Hl D52
2 60,744,949 5,313,500 55,431,449
ANEzb &2 75 2 HAHE 2 60,744,949 5,313,500 55,431,449
2Aus S JIBAIE ZEAMS(EREXINLAY) 60,744,949 5,313,500 55,431,449
Y~ M2 TADEEZ ASHZTAIE EXISM 51,292,449 0 51,292,449
401 AIEHI L 2 CHYI 51,292,449 0 51,292,449
01 A€ HI 49,630,000 0 49,630,000
EE~rM2 TADEEZ ASHBAE £X
S A 49,630,000, 0003 14 49,630,000
02 Zeldl 1,500,000 0 1,500,000
O2E~=A2t TAIDE-Z ASHBAIE EX
S A 1,500,000, 000 =14 1,500,000
03 Al 2 CHHI 162,449 0 162,449
O2E~=AM2t TAIDECZ ASHBAIE EX
S A 70,630,000,000& *0.23% 162,449
=NE5758 ASNHNTAME EXSA 9,452,500 5,313,500 4,139,000
401 AIEHI L 2CHYI 9,452,500 5,313,500 4,139,000
01 A€ dl 9,000,000 5,000,000 4,000,000
O=XE&s57ad ASMHNTAIE EXZA
9,000,000, 000 * 14 9,000,000
02 Zeldl 430,000 300,000 130,000
O=XE&s57ad ASMHNTAIE EXSA
430,000,000& » 14! 430,000
03 Al 2 CHHI 22,500 13,500 9,000
O=XE&s57ad ASMHNTAIE X SA
9,000,000, 000 *0.25% 22,500




B S AR AR =)
KM CAEH L EHK A

SRl DX F XN AS (S E X ALS) (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o %E& HRE2
T Al XH A A =H 409,512,124 460,289, 891 NB0,777,767
SAIEE & XA 409,460,964 460,264,571 A 50,803,607
TH K| EHXIOHEPAS (EF W EH X D& AFS) 409,454,964 460,258,571 A 50,803,607
DFWE TR X 2 24t 52,160 471,160 A 419,000
202 044 2,160 2,160 0
01 2L Hl 2,160 2,160 0
QUi xfe2ed A8 oyl
20,0002 *3H 33| x12& 2,160
305 HHAZ2S 50,000 469,000 A 419,000
01 HIASS 50,000 469,000 A 419,000
QU XY As2td 2 AHH|
50,000,000 x 1Al 50,000
TN X7 SHs=2 27,950 54,940 A 26,990
201 LBt Y| 27,950 54,940 A 26,990
01 AP 22| d| 27,950 54,940 A 26,990
OQEW X FAIEH A& 2SS HA =S (M YAl
D23 H A 500,000 x103] 2H 10,000
OAasS) 20 1,000,000 14! 1,000
OZglyH EYH & =& 322 330,000& x5 #3353 4,950
OFRYS=D U #LX2 |0
12,000,000& *13] 12,000
Tt X EHX O AR 7,050 7,650 A 600
201 et d| 3,000 3,600 A 600
02 2% H| 3,000 3,600 A 600
OmnExs2 T2 S22
250,000& ~12& 3,000
203 &2 =&XH| 4,050 4,050 0
03 Al ZH =& 25 X H| 4,050 4,050 0
OfK3I|2 L F0I2tE3F] 4,050,000 4,050
TEW X2 BHXOHEAIS O 2 oldl 8] 409,367,804 459,724,821 N50,357,017
1 0lgl Bl 409,367,804 459,724,821 AN50,357,017
1 LBl H H] 409,367,804 459,724,821 N50,357,017
ool Bl gl 409,367,804,000& 409,367,804
HAMALE 2 (HDETIHLAS) 6,000 6,000 0
HALX L AIRA SHIMNH 6,000 6,000 0
201 LBt Y| 6,000 6,000 0
02 2=2=24%4| 6,000 6,000 0
o=2gxg X 3,000,000 ~2CH 6,000
SHAESHAH| (S A X AEA =) 51,160 25,320 25,840




2N
X ZH -
L= B

el

S AT A 2 1t

HE2AZH (S AITHA S =)
Jl2ZH (BRE XL AY)

SN FH-SA(EN) - MBAY - BES

I =Y (B E K N ALY) 51,160
= 51,160
201 Yer2 gy 11,760
01 At 22l 11,760
oM 60,0002 x7% x 122 5,040
OJl= 22| 80,0002 x7 x 122 6,720

202 014l 12,600
01 2K 0l bl 12,600
OJI=2YdL Ao 150,0002 +7% x 122 12,600

203 YR = & b 1,800
04 BN2LAR =T 1,800
ORNSIALETY| 150,000 * 122 1,800

405 XHoHE S 25,000
01 ML S 25 S| 25,000
OZExe (M) 25,000,000 *1CH 25,000

=

i
2m




M S AN D
g BT S

Eel: BDXT XL (BRI LAY ) (Sl & &)
SA B (E) - NRAY - BES 0f & o SSa H D52
S AIDHE ot 24,880 5,030,020 A5,005, 140
I=aMDNERS AP = 1,800 5,002,700 25,000,900
BDX P X ELGAS (B DE XS ALY) 1,800 2,700 A 900
BIXIOHE 2 K202 &2 1,800 2,700 A 900
203 ¥R =&l 1,800 2,700 A 900
03 Al Z=Z R EAY| 1,800 2,700 900
O 2H R 1,800,000 1,800
HE 2SI (ZAIHE D) 23,080 27,320 A4,240
Jl2ZH (HLE XL ALY) 23,080 27,320 A4,240
JlE= 3l 23,080 27,320 A4,240
201 LEt2E | 10,080 10,920 A 840
01 At 2teltl 10,080 10,920 A 840
OR N2 60,000 x6H 12 4,320
OJl=s &l 80,0003 x6H » 128 5,760
202 044l 10,800 12,600 A 1,800
01 SLHOYI 10,800 12,600 1,800
OE WXL AMB = 048]
150,000 x6Z «12& 10,800
203 g2 =&l 1,200 1,800 A 600
04 EASEYRFEH| 1,200 1,800 A 600
OFMEggRFLY 100,000& x12& 1,200
405 Xt&tE SHI 1,000 2,000 A 1,000
01 AL ESH SH 1,000 2,000 A 1,000
OAMSEAXH(THA) 250,000 =4CH 1,000




= o
A & 0l & AF 2 E A A
2018E & =0l & ZAITHAE A Xl
AT ZAITHAEHE
A SAITHMALS
Gl TAITHAHAIS (S AITHA) (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
S AL TH A4 & ZH 1t 26,777,255 10,337,000 16,440,255
Xl 2,539,000
< 349,500
Al 23,888,755
SAITHAM ALY 26,777,255 10,337,000 16,440,255
Xl 2,539,000
< 349,500
Al 23,888,755
SAITHAE AL (S AITH &) 26,777,255 10,337,000 16,440,255
Xl 2,539,000
< 349,500
Al 23,888,755
S AITH AL 20,672,356 9,057,254 11,615,102
201 et 20,680 18,680 2,000
01 At 22l 13,680 13,680 0
OEAMNTHMAIY DM =<
230,000 1 63| 1,380
OZANTHEAIY E2= MEH
4,500,000% =14 4,500
OZATHMLAS 3o &
100,000 »13H *63] 7,800
03 &AL Z I 7,000 5,000 2,000
OZATHEAIY =CEAN AIAS
50,000 x20H +7 0 2 & x 13 7,000
203 YR =2l 1,500 1,500 0
03 Al =AY R =& 1,500 1,500 0
ORaIla & F0I2tg 3] 1,500,000& 1,500
401 Al HI K 2018 7,000,000 4,000,000 3,000,000
01 A& Hl 7,000,000 4,000,000 3,000,000
OZATHEAIY ALY =8, EX, A2
O & H 200,000,000& =30 X 6,000,000
OSAMNTHMAIYE AU HYASS0 s EHA
cl2g9d & AZHl 50,000,000& 20 X 1,000,000
801 Gilbl bl 13,650,176 5,007,074 8,643,102
01 BHoil bl bl 13,650,176 5,007,074 8,643,102
OZAITHMALSE =& ollblbgl 13,650, 176,000 13,650,176
SATHEXZHEH 22 525,899 313,746 212,153
101 144 dl 344,819 232,242 112,577
02 DIt B == 344,819 232,242 112,577
OZANTHMRIAHE AJ Q12| 309,215
—Jl=s 247,777
HEE(6SAY) 2,805,400 «1F <128 33,665




2N
DS AITH A AR

el

X ZH
S =

S AT A 2 1t

S A THAE AL (S Al TH A4)

SN HH-S(BN) - MBAY - B il HlnE2
Hoood(1249)
2,076,200& x5H 128 124,572
MR (B3 AE) 1,865,400 x4 12 89,540
—EY 4,800,000& * 14 4,800
— 322Xl 16,260,000 *14] 16,260
— M Z A 130,000& 10 122 15,600
— ZE S| 24,777,600& » 14 24,778
OSAHMX2AME M2 AMIZEZ
2,219, 100& x 1A x 128 26,630
OZAMEX MY M EXZ
8,973,800& * 14 8,974
201 LBt2d| 47,700 71,224 N23,524
01 At 22l 35,700 65,824 A 30,124
Oger2g| 250,000& x12& 3,000
Og&Hl 5,000,000& =14 5,000
OXAH & NEsEH 250,000 x10H x 13| 2,500
Oogxtz 2,100,000& x12& 25,200
02 8322l 12,000 5,400 6,600
OFEBSHY AEZ 300,000 x 1A x 123 3,600
O&Il=z 700,000& 141123 8,400
202 O4dl 16,800 8,400 8,400
01 = LHA YI 16,800 8,400 8,400
OJIegRF8 0l 20,0002 x10H +x7L 123 16,800
203 R =&Yl 1,500 1,500 0
03 AI®FXH S =ZH| 1,500 1,500 0
OZANTHEAIY &= & X3 GHE FRFL
=l 1,500,000& 1,500
207 A RO H| 70,000 0 70,000
01 1P gAY 70,000 0 70,000
OBSTATHYUS 2F Sl
50,000, 000& =14l 50,000
OSATHAHALY S HOIX M
20,000, 000& =14l 20,000
405 XHoHF S HI 45,080 380 44,700
01 XA 2 ZF S| 45,080 380 44,700
OZAMMIAHE SEAXNFHE EII(& ) 45,080
—AFE(SLIEHEE)
1,240,000 *3CH 40 2 14,880
—dodEeH 450,000 = 1CH 44 A 1,800
— 2 M A 600, 0003 » 1CH *4H & 2,400
— & 300,000 *1CH *4 04 2 1,200
—d&¥n 380,000 »1CH 408 & 1,520




2N
DS AITH A AR

el

X ZH
S =

S AT A 2 1t

S A THAE AL (S Al TH A4)

= - — SHE|
SN EE B (BH) - HRAY - BES e Hl D= 2t
— 250,000 *30H 404 & 3,000
=1 150, 000& *3JH 44 & 1,800
— 32 AKX 45,0003 *6IH x4 4 2 1,080
—ANRE X 250,000 *3H 44 2 3,000
—3os My 200,000 *1JH 44 2 800
— AN2RE JHHIH 200,000 *3H *4 4 2 2,400
—HE 300,000 *3JH x4 4 £ 3,600
- 200,000 » 101 x40 & 800
— ItEl & 170,000 10K 404 & 6,800
=828 XEFE FUAY ,330,000 400,000 1,930,000
Xl , 165,000
< 349,500
Al 815,500
401 Al& I 28I ,330,000 400,000 1,930,000
Xl , 165,000
< 349,500
Al 815,500
01 A& HI ,330,000 400,000 1,930,000
O==828 XS HHIAY AL
2,330,000,000& =14 ,330,000
Xl 1,165,000
= 349,500
Al 815,500
AT A S AITHAALS , 748,000 566,000 2,182,000
Xl 1,374,000
Al 1,374,000
401 Al Bl 28I 2,748,000 0 2,748,000
Xl 1,374,000
Al 1,374,000
01 A& HI , 748,000 0 2,748,000
O=ES BHE2 -4 JBtXNA THAHASHI
2,748,000,000& =14 , 748,000
Xl ,374,000
Al 1,374,000
HiHs XSS AL (XA 1,000 0 1,000
203 ¥ S =&l 1,000 0 1,000
03 AIHZ=XH 2 =IH| 1,000 0 1,000
OAMH#ZEHS =AY 1,000,000& 1,000
SAMMSER S S5 ALY 500,000 0 500,000
207 Ao 2| 500,000 0 500,000
01 2284 500,000 0 500,000
OEAMNMHMHEX S AFSHHl 500,000,000 500,000




N = 0l & At & Ml A

2018 = =0lat WIS MelAld X

AN HAHFED
3 288 HIISAME 29
¢elr HIIEXMelAIE XA (HIIEM2AIE) (Sl & &)

SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
HAMH N 35,760,100 35,538,000 222,100
SEXQ HIISsANE &9 35,760,100 35,538,000 222,100

HIISX2IAE EXAML(HIISHSAIE) 35,760,100 35,538,000 222,100

0dl 81 8l 35,760,100 35,538,000 222,100

801 oil bl Bl 35,760,100 35,538,000 222,100
1 B0 5l B 35,760,100 35,538,000 222,100

Oaolgldl 35,760, 100,000& 35,760,100




